Riverside County Flood Control & Water Conservation District

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: NORCO MDP LATERAL N-1D AND NORCO - SPIRIT KNOLL COURT STORM DRAIN

Project Number: 2-0-0083-01 **Bid Open Date:** 05/09/2013

ENGINEER'S ESTIMATE MAMCO, INC.

ENVIRONMENTAL

Kenn No. 9 Description	T724	0	II Did	Takal Did	II:4 D: J	Takal Di J		& REMED. F dba EAR Fotal Bid neering.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid		
1 MOBILIZATION	L.S.	1	\$31,600.00	\$31,600.00	\$73,961.65	\$73,961.65	\$45,000.00	\$45,000.00
2 WATER CONTROL	L.S.	1	\$40,000.00	\$40,000.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00
3 TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$23,000.00	\$23,000.00	\$22,000.00	\$22,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$16,000.00	\$16,000.00	\$21,581.99	\$21,581.99	\$10,500.00	\$10,500.00
5 EXCAVATION	C.Y.	3,530	\$15.00	\$52,950.00	\$8.75	\$30,887.50	\$11.00	\$38,830.00
6 ROADWAY EXCAVATION	C.Y.	230	\$15.00	\$3,450.00	\$25.00	\$5,750.00	\$25.00	\$5,750.00
7 ASPHALT CONCRETE EXCAVATION	C.Y.	58	\$15.00	\$870.00	\$12.00	\$696.00	\$50.00	\$2,900.00
8 BACKFILL	C.Y.	1,456	\$13.00	\$18,928.00	\$13.00	\$18,928.00	\$16.00	\$23,296.00
9 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	265	\$65.00	\$17,225.00	\$71.00	\$18,815.00	\$77.00	\$20,405.00
10 TRENCH SAFETY SYSTEM AND	L.S.	1	\$40,000.00	\$40,000.00	\$8,750.00	\$8,750.00	\$14,000.00	\$14,000.00
FALSEWORK								
11 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	36	\$600.00	\$21,600.00	\$920.00	\$33,120.00	\$1,450.00	\$52,200.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	7	\$450.00	\$3,150.00	\$635.00	\$4,445.00	\$1,600.00	\$11,200.00
13 JUNCTION STRUCTURE NO. 1	EACH	5	\$2,600.00	\$13,000.00	\$1,880.00	\$9,400.00	\$1,950.00	\$9,750.00
14 RCB JUNCTION STRUCTURE	EACH	1	\$2,600.00	\$2,600.00	\$6,300.00	\$6,300.00	\$6,100.00	\$6,100.00
15 MANHOLE NO. 1	EACH	2	\$2,600.00	\$5,200.00	\$2,800.00	\$5,600.00	\$5,900.00	\$11,800.00
16 MANHOLE NO. 2	EACH	2	\$2,600.00	\$5,200.00	\$3,500.00	\$7,000.00	\$6,000.00	\$12,000.00
17 MANHOLE NO. 3	EACH	3	\$2,100.00	\$6,300.00	\$1,350.00	\$4,050.00	\$3,400.00	\$10,200.00
18 18" RCP	L.F.	151	\$93.00	\$14,043.00	\$70.00	\$10,570.00	\$37.00	\$5,587.00
19 24" RCP	L.F.	482	\$119.00	\$57,358.00	\$67.00	\$32,294.00	\$51.00	\$24,582.00
20 ELLIPTICAL PIPE (36" EQUIVALENT)	L.F.	592	\$120.00	\$71,040.00	\$198.00	\$117,216.00	\$194.00	\$114,848.00
21 AGGREGATE BASE, CLASS 2	C.Y.	401	\$62.50	\$25,062.50	\$32.00	\$12,832.00	\$45.00	\$18,045.00
22 ASPHALT CONCRETE, TYPE B	TONS	618	\$123.00	\$76,014.00	\$87.20	\$53,889.60	\$99.00	\$61,182.00
23 ASPHALT CONCRETE DIKE	L.F.	1,105	\$15.00	\$16,575.00	\$5.45	\$6,022.25	\$6.00	\$6,630.00
24 TEMPORARY RESURFACING	TONS	151	\$105.00	\$15,855.00	\$92.00	\$13,892.00	\$120.00	\$18,120.00
25 MISCELLANEOUS IRON AND STEEL	LBS.	4,988	\$2.00	\$9,976.00	\$1.50	\$7,482.00	\$3.00	\$14,964.00
26 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	35	\$14.00	\$490.00	\$25.00	\$875.00	\$100.00	\$3,500.00
27 DUST ABATEMENT	L.S.	1	\$20,000.00	\$20,000.00	\$700.00	\$700.00	\$6,500.00	\$6,500.00
		ı		'			I	

Ви Орен Вийе. 05/09/2015			ENGINEER'S	ESTIMATE	MAMC	O, INC.		NMENTAL & REMED.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	MGMN' <i>Unit Bid</i> Engi	Γ dba EAR <i>Total Bid</i> neering.
28 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$16,750.00	\$16,750.00	\$9,500.00	\$9,500.00
29 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$3,000.00	\$3,000.00
30 6-INCH SEWER LINE	L.S.	1	\$15,000.00	\$15,000.00	\$32,000.00	\$32,000.00	\$38,000.00	\$38,000.00
31 PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	962	\$375.00	\$360,750.00	\$255.00	\$245,310.00	\$276.00	\$265,512.00
32 LEVELING BED MATERIAL	C.Y.	96	\$30.00	\$2,880.00	\$30.00	\$2,880.00	\$51.00	\$4,896.00
	·			01 010 117 50		6634 000 00		\$000 707 00

\$1,018,116.50 \$824,999.99 \$900,797.00

Project Number: 2-0-0083-01

Bid Open Date: 05/09/2013

Bid Open Date: 05/09/2013			PYRAMID BU ENGINEERI		IRVINE PIPI IN	,	Т.В.	U., INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$28,000.00	\$28,000.00	\$20,000.00	\$20,000.00	\$55,000.00	\$55,000.00
2 WATER CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
3 TRAFFIC CONTROL	L.S.	1	\$22,000.00	\$22,000.00	\$15,000.00	\$15,000.00	\$16,000.00	\$16,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$28,000.00	\$28,000.00	\$32,500.00	\$32,500.00	\$32,100.00	\$32,100.00
5 EXCAVATION	C.Y.	3,530	\$8.50	\$30,005.00	\$24.00	\$84,720.00	\$22.00	\$77,660.00
6 ROADWAY EXCAVATION	C.Y.	230	\$53.00	\$12,190.00	\$35.00	\$8,050.00	\$55.00	\$12,650.00
7 ASPHALT CONCRETE EXCAVATION	C.Y.	58	\$44.00	\$2,552.00	\$35.00	\$2,030.00	\$65.00	\$3,770.00
8 BACKFILL	C.Y.	1,456	\$47.00	\$68,432.00	\$25.00	\$36,400.00	\$19.00	\$27,664.00
9 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	265	\$78.00	\$20,670.00	\$65.00	\$17,225.00	\$110.00	\$29,150.00
10 TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00
11 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	36	\$1,182.00	\$42,552.00	\$1,250.00	\$45,000.00	\$1,200.00	\$43,200.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	7	\$732.00	\$5,124.00	\$800.00	\$5,600.00	\$1,000.00	\$7,000.00
13 JUNCTION STRUCTURE NO. 1	EACH	5	\$1,860.00	\$9,300.00	\$1,800.00	\$9,000.00	\$2,165.00	\$10,825.00
14 RCB JUNCTION STRUCTURE	EACH	1	\$7,255.00	\$7,255.00	\$10,500.00	\$10,500.00	\$9,950.00	\$9,950.00
15 MANHOLE NO. 1	EACH	2	\$3,100.00	\$6,200.00	\$3,000.00	\$6,000.00	\$4,210.00	\$8,420.00
16 MANHOLE NO. 2	EACH	2	\$4,000.00	\$8,000.00	\$4,200.00	\$8,400.00	\$4,450.00	\$8,900.00
17 MANHOLE NO. 3	EACH	3	\$750.00	\$2,250.00	\$2,200.00	\$6,600.00	\$2,280.00	\$6,840.00
18 18" RCP	L.F.	151	\$71.00	\$10,721.00	\$40.00	\$6,040.00	\$40.00	\$6,040.00
19 24" RCP	L.F.	482	\$55.00	\$26,510.00	\$50.00	\$24,100.00	\$70.00	\$33,740.00
20 ELLIPTICAL PIPE (36" EQUIVALENT)	L.F.	592	\$169.00	\$100,048.00	\$183.00	\$108,336.00	\$201.00	\$118,992.00
21 AGGREGATE BASE, CLASS 2	C.Y.	401	\$41.00	\$16,441.00	\$70.00	\$28,070.00	\$42.00	\$16,842.00
22 ASPHALT CONCRETE, TYPE B	TONS	618	\$120.00	\$74,160.00	\$130.00	\$80,340.00	\$95.00	\$58,710.00
23 ASPHALT CONCRETE DIKE	L.F.	1,105	\$6.00	\$6,630.00	\$12.00	\$13,260.00	\$8.00	\$8,840.00
24 TEMPORARY RESURFACING	TONS	151	\$100.00	\$15,100.00	\$105.00	\$15,855.00	\$100.00	\$15,100.00
25 MISCELLANEOUS IRON AND STEEL	LBS.	4,988	\$1.50	\$7,482.00	\$3.00	\$14,964.00	\$2.65	\$13,218.20
26 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	35	\$100.00	\$3,500.00	\$100.00	\$3,500.00	\$110.00	\$3,850.00
27 DUST ABATEMENT	L.S.	1	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00

Page 3 of 12

Bid Open Date: 05/09/2013			PYRAMID BU ENGINEERI		IRVINE PIP IN		Т.В.	U., INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
28 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$1,500.00	\$1,500.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
29 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
30 6-INCH SEWER LINE	L.S.	1	\$29,635.85	\$29,635.85	\$30,500.00	\$30,500.00	\$22,500.00	\$22,500.00
31 PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	962	\$285.00	\$274,170.00	\$248.00	\$238,576.00	\$225.00	\$216,450.00
32 LEVELING BED MATERIAL	C.Y.	96	\$336.00	\$32,256.00	\$50.00	\$4,800.00	\$45.00	\$4,320.00
		· ·		0000 603 0		0025 266 00		£020 721 20

\$908,683.85 \$925,366.00 \$928,731.20

Project Number: 2-0-0083-01

Bid Open Date: 05/09/2013			MCC EQUII RENTALS		KANA PIPE	CLINE, INC.		STRUCTION, NC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$38,872.60	\$38,872.60	\$67,000.00	\$67,000.00	\$47,361.00	\$47,361.00
2 WATER CONTROL	L.S.	1	\$3,456.63	\$3,456.63	\$6,500.00	\$6,500.00	\$4,857.00	\$4,857.00
3 TRAFFIC CONTROL	L.S.	1	\$31,463.42	\$31,463.42	\$17,000.00	\$17,000.00	\$25,067.00	\$25,067.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$48,643.46	\$48,643.46	\$7,000.00	\$7,000.00	\$20,340.00	\$20,340.00
5 EXCAVATION	C.Y.	3,530	\$9.39	\$33,146.70	\$11.00	\$38,830.00	\$11.00	\$38,830.00
6 ROADWAY EXCAVATION	C.Y.	230	\$43.23	\$9,942.90	\$37.00	\$8,510.00	\$186.00	\$42,780.00
7 ASPHALT CONCRETE EXCAVATION	C.Y.	58	\$40.74	\$2,362.92	\$50.00	\$2,900.00	\$160.00	\$9,280.00
8 BACKFILL	C.Y.	1,456	\$6.67	\$9,711.52	\$8.00	\$11,648.00	\$27.00	\$39,312.00
9 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	265	\$92.44	\$24,496.60	\$55.00	\$14,575.00	\$67.00	\$17,755.00
10 TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$11,013.95	\$11,013.95	\$12,000.00	\$12,000.00	\$36,765.00	\$36,765.00
11 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	36	\$1,406.61	\$50,637.96	\$1,100.00	\$39,600.00	\$760.00	\$27,360.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	7	\$1,479.03	\$10,353.21	\$930.00	\$6,510.00	\$961.00	\$6,727.00
13 JUNCTION STRUCTURE NO. 1	EACH	5	\$1,975.47	\$9,877.35	\$2,100.00	\$10,500.00	\$1,482.00	\$7,410.00
14 RCB JUNCTION STRUCTURE	EACH	1	\$7,592.44	\$7,592.44	\$9,900.00	\$9,900.00	\$9,241.00	\$9,241.00
15 MANHOLE NO. 1	EACH	2	\$5,233.06	\$10,466.12	\$4,000.00	\$8,000.00	\$3,726.00	\$7,452.00
16 MANHOLE NO. 2	EACH	2	\$5,292.80	\$10,585.60	\$4,300.00	\$8,600.00	\$4,307.00	\$8,614.00
17 MANHOLE NO. 3	EACH	3	\$2,905.42	\$8,716.26	\$2,500.00	\$7,500.00	\$1,236.00	\$3,708.00
18 18" RCP	L.F.	151	\$154.89	\$23,388.39	\$103.00	\$15,553.00	\$76.00	\$11,476.00
19 24" RCP	L.F.	482	\$119.13	\$57,420.66	\$90.00	\$43,380.00	\$63.00	\$30,366.00
20 ELLIPTICAL PIPE (36" EQUIVALENT)	L.F.	592	\$98.99	\$58,602.08	\$243.00	\$143,856.00	\$197.00	\$116,624.00
21 AGGREGATE BASE, CLASS 2	C.Y.	401	\$78.74	\$31,574.74	\$78.00	\$31,278.00	\$97.00	\$38,897.00
22 ASPHALT CONCRETE, TYPE B	TONS	618	\$108.71	\$67,182.78	\$89.00	\$55,002.00	\$155.00	\$95,790.00
23 ASPHALT CONCRETE DIKE	L.F.	1,105	\$12.29	\$13,580.45	\$6.00	\$6,630.00	\$6.00	\$6,630.00
24 TEMPORARY RESURFACING	TONS	151	\$99.63	\$15,044.13	\$100.00	\$15,100.00	\$112.00	\$16,912.00
25 MISCELLANEOUS IRON AND STEEL	LBS.	4,988	\$2.23	\$11,123.24	\$2.75	\$13,717.00	\$2.00	\$9,976.00
26 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	35	\$114.99	\$4,024.65	\$130.00	\$4,550.00	\$192.00	\$6,720.00
27 DUST ABATEMENT	L.S.	1	\$11,108.16	\$11,108.16	\$5,045.00	\$5,045.00	\$3,000.00	\$3,000.00

Page 5 of 12

ын Орен Ише: 03/09/2013			MCC EQUI RENTAL		KANA PIPE	LINE, INC.		STRUCTION, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
28 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$19,342.27	\$19,342.27	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00
29 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,036.43	\$5,036.43	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
30 6-INCH SEWER LINE	L.S.	1	\$53,553.22	\$53,553.22	\$51,000.00	\$51,000.00	\$36,932.00	\$36,932.00
31 PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	962	\$288.16	\$277,209.92	\$318.00	\$305,916.00	\$275.00	\$264,550.00
32 LEVELING BED MATERIAL	C.Y.	96	\$44.64	\$4,285.44	\$28.00	\$2,688.00	\$61.00	\$5,856.00
	·			0072.017.20	•	£002 200 00		\$1,000,088,00

\$973,816.20 \$982,288.00 \$1,009,088.00

Project Number: 2-0-0083-01

Bid Open Date: 05/09/2013			H & H GEN		BELCZAK &	SONS, INC.		XCAVATING, NC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$80,000.00	\$80,000.00	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00
2 WATER CONTROL	L.S.	1	\$7,458.00	\$7,458.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
3 TRAFFIC CONTROL	L.S.	1	\$16,900.00	\$16,900.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$18,800.00	\$18,800.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
5 EXCAVATION	C.Y.	3,530	\$18.50	\$65,305.00	\$12.00	\$42,360.00	\$32.00	\$112,960.00
6 ROADWAY EXCAVATION	C.Y.	230	\$29.00	\$6,670.00	\$50.00	\$11,500.00	\$32.00	\$7,360.00
7 ASPHALT CONCRETE EXCAVATION	C.Y.	58	\$87.50	\$5,075.00	\$40.00	\$2,320.00	\$32.00	\$1,856.00
8 BACKFILL	C.Y.	1,456	\$45.50	\$66,248.00	\$80.00	\$116,480.00	\$6.00	\$8,736.00
9 CONTROLLED LOW STRENGTH	C.Y.	265	\$68.00	\$18,020.00	\$180.00	\$47,700.00	\$80.00	\$21,200.00
MATERIAL (CLSM) 10 TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$10,000.00	\$10,000.00	\$24,000.00	\$24,000.00	\$1,000.00	\$1,000.00
11 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	36	\$1,286.00	\$46,296.00	\$2,000.00	\$72,000.00	\$1,010.00	\$36,360.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	7	\$1,533.00	\$10,731.00	\$1,500.00	\$10,500.00	\$650.00	\$4,550.00
13 JUNCTION STRUCTURE NO. 1	EACH	5	\$5,537.00	\$27,685.00	\$2,500.00	\$12,500.00	\$2,600.00	\$13,000.00
14 RCB JUNCTION STRUCTURE	EACH	1	\$10,800.00	\$10,800.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00
15 MANHOLE NO. 1	EACH	2	\$3,107.00	\$6,214.00	\$2,500.00	\$5,000.00	\$3,800.00	\$7,600.00
16 MANHOLE NO. 2	EACH	2	\$3,672.00	\$7,344.00	\$2,500.00	\$5,000.00	\$4,600.00	\$9,200.00
17 MANHOLE NO. 3	EACH	3	\$1,469.00	\$4,407.00	\$1,000.00	\$3,000.00	\$1,600.00	\$4,800.00
18 18" RCP	L.F.	151	\$80.00	\$12,080.00	\$50.00	\$7,550.00	\$90.00	\$13,590.00
19 24" RCP	L.F.	482	\$44.00	\$21,208.00	\$50.00	\$24,100.00	\$114.00	\$54,948.00
20 ELLIPTICAL PIPE (36" EQUIVALENT)	L.F.	592	\$172.00	\$101,824.00	\$120.00	\$71,040.00	\$248.00	\$146,816.00
21 AGGREGATE BASE, CLASS 2	C.Y.	401	\$75.00	\$30,075.00	\$70.00	\$28,070.00	\$39.00	\$15,639.00
22 ASPHALT CONCRETE, TYPE B	TONS	618	\$103.00	\$63,654.00	\$170.00	\$105,060.00	\$89.00	\$55,002.00
23 ASPHALT CONCRETE DIKE	L.F.	1,105	\$5.00	\$5,525.00	\$25.00	\$27,625.00	\$5.00	\$5,525.00
24 TEMPORARY RESURFACING	TONS	151	\$149.00	\$22,499.00	\$100.00	\$15,100.00	\$100.00	\$15,100.00
25 MISCELLANEOUS IRON AND STEEL	LBS.	4,988	\$2.25	\$11,223.00	\$10.00	\$49,880.00	\$2.75	\$13,717.00
26 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	35	\$96.00	\$3,360.00	\$1,000.00	\$35,000.00	\$125.00	\$4,375.00
27 DUST ABATEMENT	L.S.	1	\$5,763.00	\$5,763.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00

Page 7 of 12

ый Орен Duie: 03/09/2013			H & H GEN CONTRACT		BELCZAK &	SONS, INC.		XCAVATING, NC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
28 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$10,300.00	\$10,300.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00
29 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$7,345.00	\$7,345.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
30 6-INCH SEWER LINE	L.S.	1	\$71,500.00	\$71,500.00	\$20,000.00	\$20,000.00	\$54,000.00	\$54,000.00
31 PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	962	\$245.00	\$235,690.00	\$235.00	\$226,070.00	\$420.00	\$404,040.00
32 LEVELING BED MATERIAL	C.Y.	96	\$129.00	\$12,384.00	\$60.00	\$5,760.00	\$20.00	\$1,920.00
				01 022 202 00		¢1 022 115 00		¢1 03Q 204 00

\$1,022,383.00 \$1,033,115.00 \$1,038,294.00

Bid Open Date: 05/09/2013			LEATHER CONSTRUCT		KEC ENG	INEERING	USS CAL B	UILDERS, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$389.00	\$389.00	\$100,000.00	\$100,000.00
2 WATER CONTROL	L.S.	1	\$1,000.00	\$1,000.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00
3 TRAFFIC CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$30,500.00	\$30,500.00	\$30,000.00	\$30,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$61,700.00	\$61,700.00	\$21,000.00	\$21,000.00	\$35.00	\$35.00
5 EXCAVATION	C.Y.	3,530	\$40.00	\$141,200.00	\$35.00	\$123,550.00	\$30.00	\$105,900.00
6 ROADWAY EXCAVATION	C.Y.	230	\$90.00	\$20,700.00	\$65.00	\$14,950.00	\$56.00	\$12,880.00
7 ASPHALT CONCRETE EXCAVATION	C.Y.	58	\$85.00	\$4,930.00	\$175.00	\$10,150.00	\$97.00	\$5,626.00
8 BACKFILL	C.Y.	1,456	\$22.00	\$32,032.00	\$63.00	\$91,728.00	\$55.00	\$80,080.00
9 CONTROLLED LOW STRENGTH	C.Y.	265	\$65.00	\$17,225.00	\$100.00	\$26,500.00	\$95.00	\$25,175.00
MATERIAL (CLSM) 10 TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$5,000.00	\$5,000.00	\$7,240.00	\$7,240.00	\$10,000.00	\$10,000.00
11 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	36	\$1,650.00	\$59,400.00	\$1,140.00	\$41,040.00	\$2,000.00	\$72,000.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	7	\$1,350.00	\$9,450.00	\$950.00	\$6,650.00	\$1,600.00	\$11,200.00
13 JUNCTION STRUCTURE NO. 1	EACH	5	\$2,900.00	\$14,500.00	\$1,540.00	\$7,700.00	\$2,500.00	\$12,500.00
14 RCB JUNCTION STRUCTURE	EACH	1	\$19,400.00	\$19,400.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00
15 MANHOLE NO. 1	EACH	2	\$5,400.00	\$10,800.00	\$4,100.00	\$8,200.00	\$5,000.00	\$10,000.00
16 MANHOLE NO. 2	EACH	2	\$5,400.00	\$10,800.00	\$4,400.00	\$8,800.00	\$5,200.00	\$10,400.00
17 MANHOLE NO. 3	EACH	3	\$2,350.00	\$7,050.00	\$2,500.00	\$7,500.00	\$2,900.00	\$8,700.00
18 18" RCP	L.F.	151	\$65.00	\$9,815.00	\$50.00	\$7,550.00	\$100.00	\$15,100.00
19 24" RCP	L.F.	482	\$56.00	\$26,992.00	\$50.00	\$24,100.00	\$110.00	\$53,020.00
20 ELLIPTICAL PIPE (36" EQUIVALENT)	L.F.	592	\$210.00	\$124,320.00	\$190.00	\$112,480.00	\$225.00	\$133,200.00
21 AGGREGATE BASE, CLASS 2	C.Y.	401	\$90.00	\$36,090.00	\$110.00	\$44,110.00	\$60.00	\$24,060.00
22 ASPHALT CONCRETE, TYPE B	TONS	618	\$120.00	\$74,160.00	\$190.00	\$117,420.00	\$97.00	\$59,946.00
23 ASPHALT CONCRETE DIKE	L.F.	1,105	\$13.00	\$14,365.00	\$6.00	\$6,630.00	\$7.00	\$7,735.00
24 TEMPORARY RESURFACING	TONS	151	\$91.00	\$13,741.00	\$150.00	\$22,650.00	\$100.00	\$15,100.00
25 MISCELLANEOUS IRON AND STEEL	LBS.	4,988	\$3.00	\$14,964.00	\$3.00	\$14,964.00	\$4.00	\$19,952.00
26 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	35	\$225.00	\$7,875.00	\$110.00	\$3,850.00	\$300.00	\$10,500.00
27 DUST ABATEMENT	L.S.	1	\$5,000.00	\$5,000.00	\$9,200.00	\$9,200.00	\$10,000.00	\$10,000.00

ый Ореп Date: 05/09/2013			LEATHER CONSTRUCT		KEC ENGI	NEERING	USS CAL B	UILDERS, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
28 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$4,600.00	\$4,600.00	\$10,000.00	\$10,000.00
29 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$1,000.00	\$1,000.00	\$6,200.00	\$6,200.00	\$5,000.00	\$5,000.00
30 6-INCH SEWER LINE	L.S.	1	\$60,000.00	\$60,000.00	\$56,000.00	\$56,000.00	\$60,000.00	\$60,000.00
31 PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	962	\$265.00	\$254,930.00	\$288.00	\$277,056.00	\$300.00	\$288,600.00
32 LEVELING BED MATERIAL	C.Y.	96	\$18.00	\$1,728.00	\$74.00	\$7,104.00	\$70.00	\$6,720.00
				61 120 177 00		¢1 120 011 00		\$1 236 429 00

\$1,120,167.00 \$1,138,811.00 \$1,236,429.00

Project Name: NORCO MDP LATERAL N-1D AND NORCO - SPIRIT KNOLL COURT STORM DRAIN

Project Number: 2-0-0083-01

Bid Open Date: 05/09/2013

ANDREW PAPAC AND SONS (Papac Construction

			SONS (Papac C	
Item No. & Description	Unit	Quantity	Co., In <i>Unit Bid</i>	ıc.) Total Bid
1 MOBILIZATION	L.S.	1	\$10,000.00	\$10,000.00
2 WATER CONTROL	L.S.	1	\$1,000.00	\$1,000.00
3 TRAFFIC CONTROL	L.S.	1	\$3,500.00	\$3,500.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$5,000.00	\$5,000.00
5 EXCAVATION	C.Y.	3,530	\$10.00	\$35,300.00
		+		-
6 ROADWAY EXCAVATION	C.Y.	230	\$95.00	\$21,850.00
7 ASPHALT CONCRETE EXCAVATION	C.Y.	58	\$250.00	\$14,500.00
8 BACKFILL	C.Y.	1,456	\$5.00	\$7,280.00
9 CONTROLLED LOW STRENGTH	C.Y.	265	\$60.00	\$15,900.00
MATERIAL (CLSM)				
10 TRENCH SAFETY SYSTEM AND	L.S.	1	\$5,000.00	\$5,000.00
FALSEWORK				
11 CLACCHAR CONODETE MINOD	ON	26	£1.0/2.00	#20 222 00
11 CLASS "A" CONCRETE, MINOR	C.Y.	36	\$1,062.00	\$38,232.00
STRUCTURES	α_{N}		¢000 00	ec 220 00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	7	\$890.00	\$6,230.00
13 JUNCTION STRUCTURE NO. 1	EACH	5	\$2,500.00	\$12,500.00
14 RCB JUNCTION STRUCTURE	EACH	1	\$9,400.00	\$9,400.00
15 MANHOLE NO. 1	EACH	2	\$3,900.00	\$7,800.00
16 MANHOLE NO. 2	EACH	2	\$4,400.00	\$8,800.00
17 MANHOLE NO. 3	EACH	3	\$2,350.00	\$7,050.00
18 18" RCP	L.F.	151	\$150.00	\$22,650.00
19 24" RCP	L.F.	482	\$186.00	\$89,652.00
20 ELLIPTICAL PIPE (36" EQUIVALENT)	L.F.	592	\$615.00	\$364,080.00
20 ELENTICIDETHE (SO EQUIVALENT)	D.1 .		Ψ012.00	\$501,000.00
21 AGGREGATE BASE, CLASS 2	C.Y.	401	\$72.00	\$28,872.00
22 ASPHALT CONCRETE, TYPE B	TONS	618	\$88.00	\$54,384.00
23 ASPHALT CONCRETE DIKE	L.F.	1,105	\$8.00	\$8,840.00
24 TEMPORARY RESURFACING	TONS	151	\$85.00	\$12,835.00
25 MISCELLANEOUS IRON AND STEEL	LBS.	4,988	\$3.00	\$14,964.00
26 DEMODEL A INCH VITRIEIED CLAV DIDE	I F	25	\$75.00	¢2 (25 00
26 REMODEL 4-INCH VITRIFIED CLAY PIPE	L.F.	35	\$75.00	\$2,625.00
(VCP) HOUSE CONNECTION	1.0	,	¢1 500 00	\$1.500.00
27 DUST ABATEMENT	L.S.	1	\$1,500.00	\$1,500.00

Project Name: NORCO MDP LATERAL N-1D AND NORCO - SPIRIT KNOLL COURT STORM DRAIN

Project Number: 2-0-0083-01

Bid Open Date: 05/09/2013 ANDREW PAPAC AND **SONS (Papac Construction**

Item	No. & Description	Unit	Quantity	Co., In Unit Bid	nc.) Total Bid
28	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$1,000.00	\$1,000.00
29	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$1,000.00	\$1,000.00
30	6-INCH SEWER LINE	L.S.	1	\$69,700.00	\$69,700.00
31	PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	962	\$411.00	\$395,382.00
32	LEVELING BED MATERIAL	C.Y.	96	\$20.00	\$1,920.00

\$1,278,746.00

Page 12 of 12